WELL COMPLETION FORM L HISTORY - DESCRIPTION OF WELL COMPLETION OF WE

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 31569	API No. 15 - 163-23701-00-00
Name: Bach Oil Production	County: Rooks
Address: P.O. Box 723 Alma NE 68920 KANSAS CORPORIO	SW -NE - NW - NE Sec. 33 Twp. 7 S. R. 20 ☐ East West
Address: P.O. Box 723 RECEIVED City/State/Zip: Alma, NE. 68920 Coffvville Resources	410 feet from S /(N) (circle one) Line of Section
Purchaser: Coffyville Resources	1660 feet from (E) / W (circle one) Line of Section
Purchaser: Coffyville Resources Operator Contact Person: Jason Bach	Footages Calculated from Nearest Outside Section Corner:
CONSERVATION -	(circle one) NE SE NW SW
Phone: (100) 470-3234 WICHITA, KS Contractor: Name: Anderson Drilling	Lease Name: Roy Well #; 1505x
License: 33237	Field Name: Wildcat
Wellsite Geologist: Randy Kilian	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 1933' Kelly Bushing: 1938'
New Well Re-Entry Workover	Total Depth: 3530' Plug Back Total Depth:
OilSWDTemp. Abd.	Amount of Surface Pipe Set and Cemented at 211 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Ory Other (Core, WSW, Expl., Cathodic, etc)	. If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	P4A
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan A NCR 8 - 6 - 08 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug Back Total Depth	Dewatering method used_Air Dry
Commingled Docket No.	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No.	Operator Name:
3-10-08 3-15-08 3-15-08	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R East West
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs are TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. months if requested in writing and submitted with the form (see rule 82-3-nd geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements
Signature: 4	KCC Office Use ONLY
Title:	Letter of Confidentiality Received
Subscribed and sworn to before me this 7th day of July	If Denied, Yes Date:
20.08 . A GENERAL NOTAR	Y - State of Nebraska Geologist Report Received
MARLEN MARLEN	Y - State of Nebraska Geologist Report Received IE L. DECKER Exp. Jan. 25, 2009 UIC Distribution
Date Commission Expires: Jan. 25, 2009	

Operator Name: Bach	Oil Production			Lease	Name:_	Roy		_ Well #: <u>150</u> :	SX
Sec. 33 Twp. 7		East	✓ West	County	/: Rooks				
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reco Electric Wireline Logs	and closed, flowin	g and shut s if gas to	-in pressures, surface test, a	whether shalong with f	nut-in pre	ssure reached	static level, hydr	ostatic pressur	es, bottom hole
Drill Stem Tests Taken (Attach Additional S		Y	es √ No		 ✓L	og Formati	on (Top), Depth	and Datum	Sample
,	•	⊘ Ye	es No		Nam			Top	Datum
Samples Sent to Geological Survey Cores Taken			,		Anhy			Not Found 2970'	-967
Electric Log Run		✓ Ye			Heeb			3177'	-1174
(Submit Copy)					Toror			3200'	-1197
ist All E. Logs Run:					Lans			3216'	-1213
					ВКС	9		3420'	-1417
					Arbu	ckle		3458'	-1455
					TD			3521'	-1518 /)
		Reno		RECORD	Ne	ew Used ermediate, produc	tion etc		al
Purpose of String	Size Hole	Siz	e Casing	Wei	ght	Setting	Type of	# Sacks	Type and Percent
Surface	12 1/4	8 5/8	(In O.D.)	20#	/ Ft.	2/11/2-06	Coment	Used 150sx	Additives 3%cc;2%gel
na Adrian senggan and accommunity of the largest Africa accommunity and public plains a non-sensor		0.0		12011		7.000		1	7,000,100
Purpose: Depth Type of Cemer — Perforate Top Bottom Type of Cemer			CEMENTING / SQUEEZE RECORD #Sacks Used Type			e and Percent Additives			
Plug Off Zone						K	RECE NSAS CORPORAT	IVED	
Shots Per Foot			RD - Bridge Plu			Acid, Fra	cture, Shot, Cemer	nt Squeeze Reco	rd
	Specify	Footage of	Each Interval Pe	rforated		(A)	mount and Kind of 3	2000	Depth
							CONSERVATION WICHITA,	DIVISION KS	
TUBING RECORD	Size	Set At		Packer /	At	Liner Run	Yes N)	<u>,,,,,</u>
Date of First, Resumerd	Production, SWD or	Enhr.	Producing Me	thod	Flowin	g Pumpi	ng 🔲 Gas L	ift Oth	er (Explain)
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate	er E	bls.	Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF	COMPLETION	I			Production Inte	rval		
Vented Sold	Used on Lease		Open Hole	Per	f. 🔲 (Dually Comp.	Commingled		

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 31569	API No. 15 - 163-23701-00-00
Name: BACH OIL PRODUCTION	County: ROOKS
Address: PO BOX 723	SW -NE - NW - NE Sec. 33 Twp. 7 S. R. 20 ☐ East West
City/State/Zip: ALMA NE 68920	410 feet from S / (Circle one) Line of Section
Purchaser:	1660 feet from (E) W (circle one) Line of Section
Operator Contact Person: JASON BACH	Footages Calculated from Nearest Outside Section Corner:
Phone: (_308)928-8920	(circle one) NE SE NW SW
Contractor: Name: ANDERSON DRILLING	Lease Name: ROY Well #: 1
License: 33237	Field Name: WILDCAT
Wellsite Geologist: MARK TORR	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 1933 Kelly Bushing:
New Well Re-Entry Workover	0500
OilSWDSIOWAbdRECEIVED	Amount of Surface Pipe Set and Cemented at 211 Feet
New Well Re-Entry Workover Oil SWD SIOW Temp. AbdRECEIVED KANSAS CORPORATION COM Gas ENHR SIGW	MINSION Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, et L 2 3 2008	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, coment sirculated from
Operator: WICHITA; KS	The feet depth to
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug BackPlug Back Total Depth	Dewatering method used
Commingled Docket No.	-
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
03-10-08 03-15-08 03-15-08	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	QuarterSecTwpS. R East West
Recompletion Date Recompletion Date	County: Docket No.:
	·
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs at TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. months if requested in writing and submitted with the form (see rule 82-3-nd geologist well report shall be attached with this form. ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements
Signature: JK	KCC Office Use ONLY
Title:	Letter of Confidentiality Received
Subscribed and sworn to before me this 9th day of July	If Denied, Yes Date:
20 0.8 . GENERAL NOTARY - State	
Notary Public: Marlene L. My Comm. Exp. Ja	
Date Commission Expires: Qax, 25, 2009	



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Bach Oil Production

R. R. #I **Box 28**

Phillipsburg, KS 67661

Voice:	(785) 483-3887	
Fax:	(785) 483-5566	

ুুুুুুুুুুুুুু Payment Terms≭ুুুুুুুুু Well Name/# or Customer P.O. Customer ID Net 30 Days ين يا Bach. Roy #1, 42 Camp Location Service Date 🗼 🖈 Due Date 🗀 Job Location Russell 4/16/08 Mar 17, 2008 KS

្ទុះ្ទែQuantity	### Item * F	Description	Unit Price	35.2:: Amount
129.00		Class A Common	12.15	1,567.35
86.00	MAT	Pozmix	6.80	584.80
8.00	MAT	Gel	18.25	146.00
54.00	MAT	Flo Seal	2.20	118.80
223.00	SER	Handling	2.05	457.15
65.00	SER	Mileage 223 sx @.09 per sk per mi	20.07	1,304.55
1.00	SER	Rotary Plug	893.00	893.00
65.00	SER	Mileage Pump Truck	7.00	455.00
1.00	EQP	Wooden Bridge Plug	39.00	39.00
1. 1 . 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.	₩, Ç	RECEIN SUL 23 2 CONSERVATION DIN WICHITA, KS	008	
And a substitution of the	DE NET DAVARI	E Subtotal	Alle Selection and the American Company of the Comp	5,565.65

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$12556.567

ONLY IF PAID ON OR BEFORE

Apr 16, 2008

	·
Subtotal	5,565.65
Sales Tax	294.98
Total Invoice Amount	5,860.63
Payment/Credit Applied	
TOTALES	5,860.63

INVOICE

Invoice Number: 112930

Page:

Invoice Date: Mar 17, 2008

ALLIED CEMENTING CO., INC. 29717

RUSSELL, KANSAS 67665	SERVICE POINT:
SEC. TWP. RANGE CA	ALLED OUT ON LOCATION JOB START JOB FINISH
DATE 3-15-08 3.3 2 20	2 'a a Qui 571 a 011
LEASE BOY WELL# / LOCATION Dam.	2.00 FM 3.00 FM 2.00 FM 3.00 FM 2.00 FM 3.00 FM 2.00 FM 3.00 FM 2.00 FM 3.00 FM 3.00 FM
OLD OR NEW Circle one) /2 N 1/2	E+NINTO
16D Duc Path	•
CONTRACTOR A FA DALG. RIG# 2	OWNER
TYPE OF JOB ROTARY Plus, HOLE SIZE 9 7/8 T.D. 35-30	CEMENT 69
CASING SIZE 85/8 SURFACE DEPTH 2//	AMOUNT ORDERED 215 SK 40 42 Gel
TUBING SIZE DEPTH	4# F10-SeaL
DRILL PIPE 4 发 F-H DEPTH @ 3480	Per SK
TOOL DEPTH	
PRES. MAX MINIMUM CHOP TO THE PRES. MAX	COMMON 129 @ 12. 1561.
MEAS. LINE SHOE JOINT CEMENT LEFT IN CSG.	POZMIX 86 @ 6.85 584.85 GEL 8 @ 18.25 146.00
PERFS.	CHLORIDE @
DISPLACEMENT	ASC @
EQUIPMENT	Flo seal 54/65 @ 2.2- 118.8-
	@
PUMP TRUCK CEMENTER GARAGE	
# 398 HELPER GARY	
BULK TRUCK # 378 DRIVER ROCKY	@
DIST IN CONSTRUCT	@
# DRIVER /	@
RANSAS CORP	@
REMARKS:	ON COMMO
NEMARKS.	23 2008 TOTAL 4/78, 62
25 SK @ 3480 CONSERVATION 25 SK @ 1556	OND SERVICE
25 SK @ 1556	9, KS
100 SK @ 898	DEPTH OF JOB
40 SK @ 256	PUMP TRUCK CHARGE 953.
10 SK @ 40'4 WOODEN BRiDGE Flug	EXTRA FOOTAGE@
15 SK @ KathoeTHANK'S	MILEAGE 65 @ 7.0 453.5
3	MANIFOLD@
	@
CHARGE TO: DACH VIL COMPANY	, **·
STREET	TOTAL 1348
	
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
	85/8 WOODEN BRIDGE Plug 39.00
	- 0 17 WEUDEN BRIDGE FILLY 37.
To Allied Cementing Co., Inc.	@



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

R. R. #I **Box 28**

Phillipsburg, KS 67661

BIII TO: A STATE OF THE STATE O	A STATE OF THE PARTY OF THE PAR
Bach Oil Production	Series Series

į	Customer.ID	ີ.//≱₃Well Name/# or Customer P.O.	7 A Talle Star Payment	Terms Kirchita
,	Bach	Roy #1	_ Net 30	Days
	Job Location 🗱 🚟	Camp Location	Service Date	W Due Date . ₩
	KS	Russell	Mar 13, 2008	4/12/08

1	Ca Quantity] ∷ item j∉ÇL∈	Description The Control of the Contr	Unit Price	Amount AC
	160.00		Class A Common	12.15	1,944.00
	3.00	MAT	Gel	18.25	54.75
	5.00	MAT	Chloride	51.00	255.00
	168.00	SER	Handling	2.05	344.40
	57.00	SER	Mileage 168 sx @.09 per sk per mi	15.12	861.84
	1.00	SER	Surface	893.00	893.00
	57.00	SER	Mileage Pump Truck	7.00	399.00
	1.00	EQP	Wooden Plug	66.00	66.00
-	- ·-	•.	CONSERVATION WICHITA	EIVED ATION COMMISSION 3 2008 V DIVISION KS	
					4 047 00

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 48/1807 ONLY IF PAID ON OR BEFORE

Apr.12, 2008

 Subtotal	4,817.99
Sales Tax	122.95
Total Invoice Amount	4,940.94
Payment/Credit Applied	
TOTAL, TOTAL	4 940 94

INVOICE

Mar 13, 2008

Invoice Number: 112855

Invoice Date:

Page:

ALLIED CEMENTING CO., LLC. 30275

TTO P.O. BOX 31 RUSSELL, KANSAS 6	57665					S	ERVICE POINT	: sell
DATE 3-11-08 SEC. TWP.	RANGE 20		CAI	LLED OUT		ON LOCATIO	ON JOB START	JOB FINISH
LEASE ROY WELL# /	LOCATION	Dame	~	Nh		24 Huy	COUNTY	STATE
OLD OR NEW (Circle one)	YE	1/16	N	1/20	v	White		
CONTRACTOR AA Ris	£ 2			OWNER				
TYPE OF JOB Surface	506		_	-			,	
7	r.D. 21/			CEMEN		,		
	DEPTH 2//			AMOUN	T O	RDERED /	O Con :	Pace
	<u>DEPTH</u>			<u> </u>		Ge/	· .	
	DEPTH		_ `	<u> </u>				
	DEPTH				+		ويساء لسسبب	
	MINIMUM			COMMO	-	160	@ 12.35	1944.00
	SHOE JOINT			POZMIX			@	
CEMENT LEFT IN CSG. 15	and the second s			GEL		<u> </u>	@ <u>18</u> 2	54.22
PERFS.			_	CHLORI	DE .	<u> </u>	<u> </u>	<u> </u>
DISPLACEMENT 12 /4 66	/			ASC			@	
EQUIPME	NT						@	
							@	
PUMPTRUCK CEMENTER	haur		_				@	
# 366 HELPER M	et						@	
BULK TRUCK		· · · · · · · · · · · · · · · · · · ·					@	
# 396 DRIVER 70	au's						@	
BULK TRUCK			.				@	
# DRIVER	4			Drum mar m	3.7.03	14	@ 	3 44. 40
		KANS	AS CO	RPORATION	<u></u> 50.	168	@ <i>_J. </i>	27784
DESTAL DE	C.		** 0.	REDEDUE RAPABONG	OMMI.	SSION SAM	7	- 001. 34(9 99
REMARK	8:		JOL	- 2 <i>3 20</i> 0	R		TOTA	L 3 459, 99
		——————————————————————————————————————	OEK	EVATION DIVIS	O _N		RVICE	• *
	· ~ /		-			ert spens er senn silvir er er er O'D	No a service of the	processing and the second different
on ent	(-					K CHARGE		Ø67 6€
Certification				EXTRA			(a)	0/3
				MILEAG		\$ 7	- @ 7 .85	759.00
				MANIFO				
•				TATATATI O	LD.		@	
			•				@	
CHARGE TO: Bach O	27		•		***************************************		<u> </u>	
CHARGE TO. SATA			_				mom.	L 1292. 00
STREET				,			IOIA	L ////
CITYSTATE_	ZIP							
		/	_			PLUG & FLO	OAT EQUIPME	ENT
	1 aks	-/					@	
	Thank	7	,					
To Alliad Companing Co. II C.	4		٠.	ر جر	5/	Wood &	7/5, @	1100